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Candidates are required to give their answers in their
own words as far as practicable.

1.  Answer any ten questions: 1x10=10

@I vifs 2dF Ted wie ¢

a)  What is the compressibility factor of a gas?
(I ST FRCPHRIeTS] @el 52

b)  Using VSEPER theory predict the shape of ;.

VSEPER @€ ARIE) [} 49 SIFe (514 |
c) What is Fajan's rule?

G @i @19 |
d)  What is Lattice energy?

=IioH *ife 52
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What is meant by hybridization of atomic
orbitals?

AT FFALT AT Ie108 F (@™t
Why the size of K" is smaller than that of K?
K93 9519 K-93 (A0 (26 & 2

What is the total number of Sigma and Pi bonds

in the following molecules?

fsfeifae seiice T wUs Bom @3k #1ig a5
IR ?

i) CH,

ii) CH,

Write the unit of Van der Waals constant 'a'.
CIICR ST FIF ‘2™~ aFF (14 |

Give an example of a pseudo first order

reaction.

415 = 22w @ R Snigse wie |
Which is called inorganic graphite?
S AIFRE FIE 6Tl =2

Define critical pressure of gas.

NI FFD B Mz WG |
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1)  Give an example of interhalogen compound.
93 THRRIENTER (e Sz wie |

m) Write S.I. unit of dipole moment.
fate A= S.1. 9FF @14 |

n)  What do you mean by collision diameter?
AR I @0 e

0)  Why sulphur is solid at room temperature but

oxygen is gaseous at room temperature?

A OINGR AT o @ Sfcea snHA
o (e ?

Answer any five questions: 2x5=10
@I Aol v Teg mie ¢

a)  Between SnCl, and SnCl, which one is more

ionic and why?

SnCl, 4<% SnCl,~4% &y FIG (N orfeis @<
2

b)  Show the resonating structure of nitrate ion.

TIZEG S @SR soesfer (e |

c) What is Boyle's temperature? Write down its

mathematical expression.

IEED O 52 @7 e gD @2
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d)  Write down the effect of temperature on rate

constant?
T A BT NI 2el] (@12 |

e) Write two differences between order and

molecularity.
fafera @ @3k Stz st ¥ siief ceat |

f) ~ Why bond dissociation energy of N, is higher
than O,?

N, 49 <% e =@ O, Sl (A (e 2

g) Calculate the mean free path of Argon at S.T.P.
Collision diameter of Argon=2.86A.

S.T.P. (S S5{(T31 51 J&oi2l e 51 | sl s1gadd

AP =2.86A |

h)  Write down the Bragg's equation for crystal
analysis.
(PO slo [esRe MF1® Bragg-43 A9l
T4

Answer any two questions: 5x2=10

@-(FIe g5 2o Ted mie ¢

a)  Draw the molecular orbital diagram of N,
molecule. What is crown ether? Write down
the structure of XeF I 3+1+1
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N, S AfeifCatie =Gl SR S | @ e
219 5 2 XeF a9 50efb e |

Write down the equation of Maxwell's
distribution of molecular velocities. Show
graphically the effect of temperature on
distribution of molecular velocity. What is

frequency of collision per second? 2+2+1

TSGR (9175 FGFE AN #72 |
eI (@I TAT TR 2o} (@ 1dbrad
HABIET @S | &fs EIRCS Sl FEH 7y q670o
F @Rie

What is surface tension? It is better to wash

clothes in hot soap solution— why? Write down

the unit of viscosity co-efficient. 2+2+1

[YBIF 135 2 AR 217 Sl T FI9C YR ([ €
ST (& 2 AWl AZR GFH0 (772 |
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